+ransformation

Recall: for wectorspaces Vand W, the ©2f T V=W s lincar

function
0FQra+or

i(: T(%W)j}ﬂﬁﬂ \/u)ve\/ omJ Sco{ars c.
Lk Uk
" }Z,‘CLVLY; z e Ty,

Eg () D:cHT)~C(D) Dfreq)= (Feeq)'= £ *+cgr= D+ Dy
Fsfr

D‘-R-&VH or :DR“’R

rank ? L k
wage ? Fe-i Fe-i
kecne[?  Yconshantsy } consharts) vw\”ijr\/? L: fanl<+nu”ih/= k+[ in both cases
injective? no no
suryeckive? yes ho

(1) C'(T) % (1) “wltiplieation byt”
@) = )
mpckie? - yest 48{)=0> {0 T e il 04T
sur jeckive? need %/‘E conkinuous \f %eC (I) = { o O e T
(i) C°(fo,1]) = C’(lo.1])
fey oo [Hds i F58 then £ F- £ o)
injeckive? Can j(nonmfo Panction) be the zero funclion? No: 402 ¢4 0, 50 inyeckive
sar yeckive? @ immse i« C(tec’ Plopr= !
() e : C(L[04)) > R ecvaluation”
+c\;&‘iﬂ
9(2)

F(o) F(o)
P = |\C(ﬂ L*c? = [{.‘(\\l
t3 £(2)

Q. Ts U ()9,4 - (RS inyeckive? saryeckie?  Find ICeme/\ and iwmje,

A dim: 5 3 = ronk ¢3, (avx[bnuuv‘*l'\/ thm 2 dim ker 2 2,
> not injective.

’ﬂr\w\ 3.0.4 = Surdec{'ive.{ iw\o\ﬁeilks = romk=3 :

> dim ker= Q.
0,1,3 roote = t(t-1)(£-3), £ (£-1) (£-3) € ker

MdGPQHJeM laecause o{iffcrcn-f o/ejreeg > Easfs -Co( ker.



Mp1e

('\J) ﬂaixa H—Q;_xa

A — s |:l 3~:|A B(A+CA/)= BA*CBA/:} /UB fS[inmr

1

3‘('\‘ T V—"\I\/ S on f'sowuorFLn'sm 'l-f T s ls;Jec“Vé.
AR T S an l'sowworf‘[m'SM = E —r—li \/\/_>\/ \»JH’L'.

ToT ' = idy: wirw ¥ oweW

T T = ia{\/ Cvsy Y ovel
P‘F’ Exercise . (’:—>3 H W, #B> content: EPJ'edive@L\o\s invelse as wiop o—{\Se\(.Sj peed [Mearf%y.
T:\V->W t'gow\orflm'sw‘ & T (basis L\Df \/>: basis -por W,

- Exercise.
Cor: dimV=n & V=R
Dl Led T:V-W be linear. T
V= (v,...,va) is an ocdered basis of V

W = (w,,...)wm) i« an ordered basis of W
'”\et’\ A: [T]V‘W 15 HI\Q motcix o-C T with rc5?&+ to Y and w ;4(:

the ’;\n‘ colymn m[\ A lists Lhe COCD\C"C"?-"“LS ON Wiy ..., Wi i Tvé.'

T, = QWi t o gy iy = [ v _q”l
|

[Om

Tvn= QWi+ Oyipn = I:W' o WM:I _qu‘

e
_ Kc\/ Fo?njrl Ty, is o [‘near
[Tu, = Tp] = [ 'gl af] combination of he wh ; what

Lo
‘ | are +L\e c0e£f4'C|'m4$? Listed in al .

Eaq D:B=D V= (L4848) ad W=(l,t,t1)2D], =7

|

o O
o O

DL DEDEDE] = [0 4 at 28] = [L ¢ #] '
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